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The figures in the margin indicate full marks

for the questions.

Q. No. 1 carries 1 mark each

1) 1x4

1(b) 1x2

1( 1x2

Q. Nos. 2-6 carry 2 marks each 2x5
Q. Nos. 7-11 carry 3 marks each 3x5
Q. Nos. 12-18 carry 5 marks each . 5x7
Q. Nos. 19-22 carry 8 marks each | 8x4
Total

=100
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1. (a)

(b)

30T ACOU

Fill in the blanks with appropriate word/words : 1x4=4
TogE =3 AASIE 7 9 3

(i) Unrecorded liabilities when paid are debited to
Account.
Tfafde o= @fSa Ao s @, cofsa _ fEpiere cofo
9 H
(i) Life Membership Fee is a receipt.
HIGRE 3] e (AR _ |
(ii) A partner acts as of the firm.
G M fSPAGR 9T fZ5itet = 3|
(iv) A company is required to publish its 'every year.
<51 @A offs IRT TR o RN = |
Choose the correct alternative : 1x2=2
o7 BEI0! AR T 8
(i) When a new partner does not bring in his share of goodwill in

cash, the amount of premium is debited to:

AT T TLNAR G (DET FANI SH 79 W @RIE, oo
fafiare «ffwd cofe s =me

(@) Premium Account

feifsrms 251

. (b) - Cash Account

57 2ol

[2]



(c) Capital Account of new partner
T SRR T 2o
(d) Capital Account of old partner.
7T SR FA 2ot |
(i) Financial statements a‘re 2
e fRgform = ¢
(1) Summarised reports of recorded facts
Afage wUARa WY Afsr@ma
(b) Detailed reports of recorded facts
AgE SURRR [Fee afer@m
(¢) Summarised re}.)orts of only cash transactions
(FE A (F TRd AefEd aferm
(d) None of the above.
GG GBI W% |

(c) State whether the following statements are “True” or “False” :
1%x2=2
e AT (FRHIF oFm @ qum 7

() Subscription received in advance is an asset.

wigmsie Ie 2’5 Goi F=AfE|

(i) Interest on debenture is payable only when a company earns

profits.
@I TS SGA FRENZ AT G2aS Fx oW o4l A |
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2. Mention two differences between Receipts and Payments account and
Income and Expenditure account. 2

Tl W6 fE519 S -7 2R Wiem g6y ofiela S 34

3. What is Premium for Goodwill ? 2
AR oty wiw /e
4. Give hwo situations under which a partnership firm is dissélved. 2

TR bR SepTRt T ol 7o7 AR Srme =

5. A, B and C are partners sharing profits in the ratio 3:2:1. A retires. B and
C have decided to take up A’s share equally. Calculate the new ratio. 2

A, BII% C-9 3:2:1 SPiioe e [Redd IR A-(T TER 229 FE | B WS
C-9 A I TR A ©91iE IR Frag 73 | Tg =TS 351 wgeirs fAefa i |

6. Name any fwo items of current assets. 2
Ricern 7ot vfere sr=ifeq s feri |
7. Mention tliree uses of financial statement. -3

e afsramr S5 IR T T4 |

8. What is common size statement ? Mention its fwo uses. 1+2=3
TR Aforma 2 2R 707 Iz TE |
OR/ 723t
Current Ratio is 3-5:1 and Quick Ratio 2-5: 1. Inventory is ¥ 50,000.
Calculate current asset and current liabilities. 3

BITS SIS 3.5 : 1 W% 6T Wil 2.5 : 1| TGwd #ifI14 T 50,000 | 5fe 74
i 5feTe (R ifdmel fRdfa w4
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Explain the super profit method of valuation of goodwill. 3

9.
A RS S & Aafe [ T4 |
10. State three features of Not-for-profit organisation. 3
S ST Srore) AP AN fofabr 3y T =4 |
OR/ 7zt
Calculate the amount of subscription to be credited to Income and
Expenditure Account for the year ended 31st March, 2019. 3
2019 5711 31 W6S TR IHq WH-GH Zo1o4® (6 RRersTa aefa sl
IGRER S
(i) Subscription received during the year ended 31st March, 2019,
2 2,50,000.
31st W6 2019 © WG “f1 7 e (RN TR SARAG 2,50,000 T |
(i) Outstanding subscription on 1. 4. 2018 — ¥ 50,000.
1. 4. 2018 ©If¥ty A Wl IR 50,000 5 |
(iii) Outstanding subscription on 31. 3 2019 — % 35,000.
31. 3. 2019 ©iffcd 2= w2 I8 35,000 T |
(iv) Advance subscription on 1.4. 2018 — ¥ 25,000.
1.4. 2018 @I wfelw e T@ef 25,000 5 |
(v) Advance subscription on 31. 3. 2019 — ¥ 30,000.
31.3.2019 ©if¥t w3 i Iefd 30,000 5|
11. What is gaining ratio ? Give two distinctions between gaining ratio and
sacrificing ratio. 1+2=3
.@WWWWW%?@WWWWWWﬁW&WW G
sfiefesy ferar | -
30T ACOU [5] Contd.




OR/ «3

What are the items shown under shareholders’ fund ?

weeeigaaea e foeae et famm Az 6 fee

12. Prepare Income and Expenditure Account from the following Receipts and
Payments Account of Ekta Club for the year 31st December, 2018 :

ZB1719 i1 I A WE-I7F Zoie s 41

Receipts and Payments Account (&I =% 436 f2pit)

5
31 fSr=ER 2018 Ity TrE2|l IGAHR I 9Tl FRF oo A T WiF A6

Receii)ts (T=t)

€3] Payments (435) €3]
Cash in hand on 1. 1. 2018 4,400 | Salary (7w=121) 6,800
(1. 1. 2018 ©iff¥® oo ¥ Rent (STl 8,250
5V 4=) Investment (fafazate) 3,500
Admission Fee 3,500 Postage (TIF) 1,250
(2T 3MReT) Telephone chargeé 750
Subscriptions (I36{) 19,500 ((ﬁ%{'@m 'QRE)
Receipts from Billiard Room 2,500 | Books Purchased 6,000
(R =@ 2/ (o[ 47) (eoiel & 7)
Interest on Investment 600 | Outstanding Expenses 700
(Rffcasm e s Jo) (SHIWE 295)
Life Membership Fee 2,000 | Cash in hand on 31.12.18 5,700
(SIERA A% TRe) - (31. 12. 18 IR Tos 2 o
Sale of Furniture 100 | 159 4=) .
(w5 )
Miscellaneous Receipts 350
(Rfen =)

32,950 32,950

30T ACOU
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Additional i-nformation :

wfefre w0 2

(i)  Outstanding subscription ¥ 1,000.
ST IR SRk 1,000 B |

(i) 60% of the admission fees and the whole of the life membership
subscriptions are to be capitalised.

AT AHEE 60% T TG R/A A AHES F7jfwee Fa-igo FRQ N |

(iti) Depreciation on Books % 600.
fFoloiT 8se STFER «AF=d 600 B |

OR/ 7z .

What is the meaning of Fund Based Accounting? Mention any three
principles of Fund Based Accounting. 2+3=5

% fofee Rorermacr w2 fafefes Rolrrmrar Ry oA e Srad +1 |

X Ltd. made a profit of Z5,00,000 after considering the following items: 5
X-Fifsre ook Rz sty Ta= f#igs 5,00,000 5 &6 wiw FfRfRE ¢

(i) Preliminary expenses written off — ¥5,000

safEs Ja’ [t A — 5,000 5=/

(ii) Depreciation on fixed assets — 50,000
Z Fifeq =g — 50,000 G

(iii) Loss on sale of machinery — 20,000
TS REIT [ (TGRSR — 20,000 T
(iv) Provision for doubtful debts — 210,000
LT R AR S IJ@F — 10,000 T
(v) Gain on sale of Land — 27,500
ofi fdt sR @1 &re — 7,500 5

30T ACOU [7] Contd.



Position of current assets and current liabilities :

BleTe =& wiI% Bfere IR w=f%fS ¢

2017(3) - 2018 (3)
Debtors ((W=WR) ' 52,000 78,000
Bills Receivables (2lt=f] f<=T) - 15,000 12,000
Prepaid expenses (Sif&l%l ew@ 357) 2,000 3,000
Creditors (#l€AMIR) ' 40,000 51,000
Bills Payable (&twa =) - 19,000 12,000
Expenses Payable (&W@ Jj¥) - 34,000 20,000
Calculate cash from operating activities.
JANS FIHEFIR 21 7ol 2R AR fefa =

OR/ 7331
What is meant by “cash equivaleﬁts” ? Mention any three objectives of
preparing cash flow statement. 2+3=5

“FoM ANGED” WA [ I T2 o AT A oGS IR eI [l
Somy S AL

14. Calculate the values of opening and closing stock from the following

information : 5
e syrer aRER wiw AR} g A9 «AR[md AT s e .
| Cost of goods sold — ¥2,00,000
(R =<1 ANTR FID)
Stock Turnover Ratio — 8 times
(TGSANR SIS SAe) — (8 M)

Stock at the beginning is 1.5 times more than the stock at the end.

TSR Tgestey AN TGS 1.5 o4 @Rl

30T ACOU [8]



What is Ratio Analysis ? Mention any three uses of ratio analysis.

OR/ 733

e Rera & e ereirs Resaer R &R0 R S 311

2+3=5

15. Ram, Shyam and Mohan were in partnership sharing profits and losses in

the ratio of 3:2:1. On 31.12. 2018 Shyam retired from the firm, Balance

Sheet of the firm on that date was as under :

243=5

P, 2T SNF GIA 3 : 2 : 1 TS A~ ITA IR FAMIG I IR

=f%e |31, 12. 2018 SIfRTY *Pita ST #i=1 SRz I | 12 Ok 2fSPs
TG ~[a< TS Al d=eiw i

Balance Sheet (353G @)

Liabilities (W) €3] Assets (374(®) €))
Sundry Creditors 5,000 | Cash (f9% 4<7) 600
(RfRY ~ireamix) Debtors (FMR) 15,000
Reserve (oﬁ‘"ﬁ) 6,000 | Less: Provision 1,500 13,500
Bills Payable (207 1) 2,600 CILIS)

Capital (F7&A) 3 Stock (FEg9 #i4y) 18,500
Ram 20.000 Furniture (W) 8,000
([) Machinery (I%ifS) 20,000
Shyam 15,000
(<)
Mohan 12,000 47,000
(21ET))
60,600 60,600
30T ACOU [9] Contd.




The terms of retirement were :

SRR TR SNIfRA ¢

(i) Goodwill of the firm to be valued at ¥12,000.
AfSHIFR IR SEURA 12,000 TS T4t 24|

(i) Machinery to be appreciated by % 5,000.
TZARST 7 5,000 THIE Ja AR |

(iii) Furniture to be depreciated by ¥ 1,000.
HIHARE ETR 1,000 TFR SFT T4 |

(iv) Provision for bad debts to be increased by I 400.
wgmRaE 3 < 400 o I =1 T

Prepare Revaluation Account and Partners’” Capital Account.

HFTENIEA 2517 S SR sEidE 256 s 4 |
OR / (23
What is.share ? Explain different types of shares. 2+3=5

e e [(fSn ooma swieem i 901

16. What is Profit and Loss Appropriation Account ? Why is it prepared ?

| 2+3=5
S (I SHcaew Zpist 2 3 f2pisl 71 ows a1 =2

30T ACOU [10]



OR/ 71231

Ajoy, Bijoy and Sanjay were partners in a firm sharing profits in the ratio

of 3:2:1. On 31st March, 2019 their Balance Shect was as under : 5

ey, Tem o= A53 3:2:1 Spies ot eeaiR) ai afowir wefivie

w5 | 31st WG, 2019 CIfkws (TSR Tgasiadd ©ove Ml 4909 ifRs ¢
: Balance Sheet (353 #13)

Liabilities (C7) () Assets (7{7&) ()
Creditors 4,000| Building (S3) 20,000
(tremms) Machinery (I31fS) 16,000
Reserve 6,000 :

(A2 71%) Stock (g #19)) 5,100
Capital : - - ; Debtors ((qRvIR) 6,000
(F74) ' Cash at Bank (3539 &) 6,900
Ajoy : 24,000
Bijoy : 12,000
Sanjay : 8,000 44.000
54,0001 - _ 54,000

Ajoy died on 30. 9. 2019. Under the partnership agreement the executors of

a deceased partner were entitled to:
30. 9. 2019 ©ifRIS Ajoy-a 9 2 | pieare o wieima afefifa s «ia ¢

(1)  Amount standing to the credit of Partner's Capital account.

QHTMIRT T fZB191T (At 4t 2ftsl) 4 |

(b) Interest. on Capital @ 12% p.a.
IR 12% TE TIETR TS 3 |
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(c) Share of goodwill on the basis of 4 years purchase of last 3 years

average profits.

fsre fof T=aq oI wre IR T TR ERA T TR O |

(d) Share of profit from the closing of the last financial year to the date

of death on the basis of last year’s profit.

Rere 3z wres f6f6 fonet R o Rers 7z e e =/ 7ge
“@WWW‘(“H

e)  Profits for the last three years were:

fRore fofi aw7w =1fe wnfee ¢

Year /3§ Profit / =TS
(%)

2016 - 17 8,000/ -

2017 - 18 - 12,000/ -

2018 - 19 7,000/ -

Prepare Ajoy’s Capital Account on the date of his death.

Ajoy-3 IR SIS (€7 T fZpio oFe T4

17. What is dissolution of partnership ? How does it differ from dissolution of

'firm ? - _ 2+3=5

ST SEIRA Wi 2 SeTMIST JPMTE TEIER Gics 3 [ 92

30T ACOU ' [12]



OR/ 123t
Dipali and Rajshri were partners in a firm sharing profits and losses in the

ratio of 3 : 2. They decided to dissolve their firm on 31st December, 2019, _
when their Balance Sheet was as under : 5

faeifeTl oI IS 3: 2 TGATS S (RGN I 91 93 YR woTMIR
Hife= | COSEN 31 feraR, 2019 ©iikve ARSHDR SeE-? s =9, @font
COEEARFT TFGHTI weTo AR W WifRE ¢

Balance Sheet (3%@ @)

Liabilities (C7) ) Assets (37ifQ) @)
Capital : Land ($f) 16,000
() & Investments (RETIM) 4,000

Dipali : 18,400
. T Sundry Debtors 2,000
Rajshri : 10,600 Ly 4
_ J 29,0001 Ry grmm)
Sundry Creditors 2,000
(R srem) Stock (FE® “4%) 3,000
: Cash at Bank ((3T< &) 6,000
31,000 31,000

Investments are sold at ¥3,800. Other assets realised as follows :
Land — 28,000, Sundry Debtors — ¥1,800, Stock — ¥ 2,800.

Creditors agreed to accept 5% less. Expenses of realisation amounted to
% 400.

RfRcarT 3,800 Trs (P! 3591 W | Sy 7={{& 7oz ©eTe ol 43wet sy smm
I A3

ot — 28,000 5, Ry (rame — 1,800 5=,  Wg© #f — 2,800 T |

ANSAMITTRCE 5% FACS o IR0 TS 2 | FHIMASIEIF 4763 w1 400 T
|

Prepare Realisation Account, Partners’ Capital Account and Bank Account.

TTAMERR o191, TLNMIRT o1 f21s e @5 2ot oS 31|

30T ACOU [13] Contd.




18. Explain the following terms: (any two) 245 42146=5

SE AR A 4 ¢ (Reeier ghy)

(i) Calls--in-advance (ifar vm%t)

(i) Under Subscription (F5 @TH1S)

(i;'i) Pro-rata allotment of shares (FN={if\ss WWET{) |

OR/ ¥z

~ Prepare a common size Income Statement from the following information :
5

S BN AA GAq BrIZS Wl SpIEE e SforEn ows 54 2

()
Sales '(ﬁa‘%ﬁ) _ | — .| 5,00,000
Cost of Goods Sold (fifer a1 it T%Tn W) - 3,78,000
Operating Expenses (APART TIPSR 2E) — 62,500
Depreciation (/%q) | - 22,000
Income from Investment (REGAIST @@ 7) e 70,000
Income Tax (SNIFF) | — 32,500

30T ACOU [14]



19. Nanu and Manu are partners of a firm. The Trial Balance of the firm as on
31st March, 2019 was as under: 8

I S 1 93 @SB SR | 31 W6, 2019 ©iRes afedmm 89 femeg
O] MR I ¢

Trial Balance (%9 e #/@)

Debit €)) Credit ®) .
Plant and Machinery 50,000 | Capital :
(i) T s
Goodwill (FJAI¥) 5,000 Nanu — 40,000
Sundry Debtors 31,000 T .
(R4 i) Manu — 30,000 [ 70,000
Closting Shack B0 Sund‘j;iCreditors 10,000
(T e 1) (fafRes )
Salaries (7<) 7000 | commission (wafq) 3,000
Depreciation on Plant and Sundry Receipts 200
Machinery 5,000 | (fafay =ifx)
(TS @o1TS TIT+) Outstanding wages | 600
Stationery (JGAZ_1) 1,000 | (gtmE 1gf)
Insurance (STs) 2,000 | Interest on Investment 200
Cash in hand (F5[7 &) 1,000 | (RfGIeR estas 7e)
" Investment (RfSzamr) 10,000 | Trading Account:

Drawings (S2a9) 8 (Fa-faw fammet) ¢

Nanu (i§) — 4,000 Gross Profit (5 51®) | 50,000

Manu (3F) —_ 2,000 6,000 Bank Loan (I 24) 4,000

1,38,000 1,38,000

Prepare Profit and Loss Account, Profit and Loss Appropriation Account
and the Balance Sheet of the firm for the year ended 31st March, 2019, after

considering the following information :

30T ACOU
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20.

were frml wETR REasal [ 6 31 W16, 2019 ©iffs W% »[1 949 @ 2fodm=
HAIS-(SIRIBIA 251!, TS-EIRBI Soitaree 31 o Tge=iam e 31 ¢

(i)  Write off 1,000 as bad debt and provide 5% provision for doubtful
debts on remaining debts.

1000 B3 SmRdE A e @@ T WF B AF (FEMRE @2ie 5%
FRETE A4S s1on IR A |

(ii) Cbmmission received in advance ¥ 500.
- wfaw gve wERT AR 500 5

(iii) Transfer 10% of Net Profit to General Reserve.

AFS TS 10% LR et gares [T A |

(iv) Allow Interest on Capital @ 5% p.a.
AR 5% YR AR ¢2Fe Jo 4={7 =Mt |

Bijoya Limited issued 2,000 shares of Rs. 100 each at par, payéble as

follows : : 8
On Application - — T30
On Allotment — 730
On First Call - T2
On Final Call - T20

All the shares were duly subscribed for, called-up and paid-up, except
the following : '

(@) Arnab holding 100 shares failed to pay first call and final call money.
(b))  Ayushi holding 60 shares failed to pay the final money.
All the above shares were forfeited after final call.

o Ffhre afS$<dq 100/- 33 JeHT 2000 I SHioig FugRe [ 1w
a6 e famt «_ee +AfIeeity RI FMa 3

v &% — 30/- 5
HFoAg NS — 30/- 5
YUY O Fe  — 20/- B
pUI% ©FRR 5% — 20/- 5

30T ACOU [16]



21.

SAAAERT A A S IR T WIS R e I A W
ToTS B T RIS AT TN S 47 (SR 1 | :

(@) 100 I TPT T TANR AAT TeR WS pTIB Todd 47 SwWig fRiwea |

(b) 60 AT ST (T WY pUIE Tod wW wmin ffice |
CARIG AT ST FO% ©oids (%S TG 41 T |

Give journal entries in the books of the company to record the above
transactions.

TARE (TR PR Tl AR @r=iNTe <3e il eifdf )

OR/ 7zt

(a) Mention three differences between shares and debentures. 3

T SE I TSR o0« Tra I

(b) Mention three uses of securities premium. 3

sfgfe witame /A5 TR S o |

(c) What is Authorised Capital of a company ? 2
@B I SCfrs FeE Wi &2

Give journal entries in the books of PM Ltd. relating to issue of debentures
under the following conditions : 2+3+3=8

Yoty RiER wisie wive wae M «RkETmEa a PM-fFfces 3 acam
aff® faar s

(a) 120, 8% Debentures of %1000 each issued at a discount of 5% and
redeemable at par.

120 B1, 1000 T 8% e+1d 5% AFre RfF I3 W= g7 #AfRri14T |

30T ACOU [17] . A Contd.




(b) 150, 8% Decbentures of T1000 each issued at 5% discount and
redeemable at 10% premium.

150 B, 1000 5 8% =cto/@ 5% Gre RfE @ IF 10% wiigas
ARG |

(c) 200, 7% Debentures of 100 each, issued at a premium of 5% and
redeemable at 10% premium.

200 Bt, 100 TR 7% wqem 5% wfEEs & F@ W 10% GRgTs
RO |

OR/ 1Z3t
Explain different methods of redemption of debentures. 8

Qoo SifReneR [fen emaformz 3w =t |
- 22. Jugal and Govind are partners in a firm sharing profits and losses in the
ratio 2 : 1. Their Balance Sheet as on 1st June, 2019 was as under : 8

Jugal S Govind 2: 1 TATSS AS SF (FRGH 301 T 550 93 5o
SR | 1 G, 2019 Siiks (odETe Tyeag oo R wl Siifes ¢

Balance Sheet (T3 #1@)

e e g e S T MR S ey Y RN

Liabilities (cwel) ) Assets (7if%) €3]
Capital : Goodwill 12,000
() ¢ GF)

Jugal : 30,000 Sundry Assets 57,000

Govind : 24,000 54,000 Rz ife)
Reserve (oiﬁi_;-,) 6,000] Cash at Bank 6,000
Sundry Creditors 12,000 (TS MW &)
(AfRRy singam)
Bills Payable 3,000
(2itra &)

75,000 ___Z§,_O_(_)9_

30T ACOU [18]



On that date Khirod was admitted as a new partner. He paid 30,000
towards his cépital but unable to pay anything for goodwill in cash. It was
agreed that goodwill will be valued at ¥ 21,000. The new profit sharing
- ratio among Jugal, Govind and Khirod was agreed at 3 :2: 1 respectively.

Pass Journal entries to record the above transactions and show the Balance

Sheet of the new firm.

TR SRt FIEAM 9T Fgn SAmMR 2ol (& sia ) (9e fism s
fZ5itst 30,000 Tt = fate, [ R AR @I Foi 1= AR @ERIRE | @3
FraE @R (@ IR TN 21,000 TS 4 T | FSG IGR TG SFAS
3:2:1 %3 [ Prag ==t 2=

ToiEre ERomTTE ffaa sRat T okt Mo o aga afsdiT Sgeeia
2ES I |

OR/ 33

(i) Mention any three features of partnership business. 8

QANVIRT IRARR [eprear folor tafiey Sad 34t |

(i) Mention five distinctions between “Fixed” and “Fluctuating” Capital.
5

31 T W SR TER TR A0 2Ny Sl 4|

30T ACOU [19]




